| EEN | BAREEWN | txB d | @ERLrFY ] C H
15 21.7 2.0x25 | W3/8 M6 x 20 25 88
20A 27.2 2.0x25 | W3/8 M6 % 20 25 89
25A 34.0 2.0x25 | W3/8 M6 x 20 25 93
32A 42.7 2.0x25 | W3/8 M6 x 25 25 98
i R AT 40A 48.6 2.0x25 | W3/8 M6 x 25 25 102
| RO | 50A 60. 5 2.0x25 | W3/8 M6 x 25 25 107
L %@}3 -~ 65A 76.3 2.0x25 | W3/8 M8 x 25 25 114
) N ; 80A 89. 1 2.0x25 | W3/8 M8 x 25 25 118
(LA A A LA 100A 114.3 2.0x25 [ W3/8 Mg x 25 25 135
125A 139. 8 3.0x32 | Wi/2 M10 x 30 30 166
(AL HE) 150A 165. 2 3.0x32 | Wi/2 M10 % 30 30 178
EARE il
| WAL Ry b
(frange= © =
THE
y 7
1l :
|
" e
@ S L EIRTHIR /AR A
10nmCR = s e e SPHC AR S E N oE "
B E:1E RE HE Ak
5=
HE 10110010149 RAINE
- _ . SHEET

\ e HR AT VIR RS anwsn| A3




